CHM 151 Quiz# 12 Fall 2017 25 Pts Name:

ON SEPARATE PAPER, work each of the followving problems.  SHOV ALL WORK in neat form TO RECEIVE CREDIT!
Due: Day/Time of final (Mon.Dec.10, 9:00-10:50 a.m.).

1. Ethyl aloohol hes a density of 0.789 g/ant . What volume of ethyl alcohol must be poured INto a
graduated cylinder to give 19.8 g of alcohol?

2. Write net ionic equations for the folloving molecullar equations. Be Careful on WEAK ACIDS.

a) H(a) + KaH(ag) —> K@) + HO(D

b) Ag\Gs(aa)) + NeBrao) —> AGBI(S) + Nels(a)

) Ca(s) + 2Br(ag) —> CaBrz(ag) + HS(Q)

d) NeCH(@) + NHBri(ag) —> NeBr(ag) + Nis(@) + HO(D)
e) k() + NelH() —>

3.  Seanater cotains 0.00068% (by mess) of bromine. How meny grams of bromine are there in 1.00 L of
seanater? The density of secanater is 1.025 g/arf.

4.  Titaniun, which is used to make airplane engines and frames, can be dotained from titanium
tetrachloride, which in tum is dotained from titaniun diaxide by the folloving process:

3T G) + 4C(s) + Ck(@) —> JTiCk(Q) + 20(Q) + 200(Q)

A vessel contains 4.15 g Tie, 5.67 g C, ad 6.78 g Cl2. Suppose the reaction goes to corpletion as
written. How many grams of titaniun tetrachloride can be produced.

5. How many grams of sodiun dichromate, NeeCrz0r, should be added to a 50.0-1L voluretric flask to
prepare 0.025 M NeeCr20r when the fllask is filled to the mark with water? What are the Molarities of
the N 1on ad the Crz0r2- ion in the solution?

6. How many milliliters of 0.238 M KMhO: are needed to react with 3.36 g of iron(1l) sulfate, FeS»? The
reection is as folloas:

10FeS: (@) + 2N (@) + &) — Fe (@)@ +
20 (@g) + KOEg) + 8o

7. A 1.28g saple of a colorless liquid wes vaporized in a 25041l flask at 121°C ad 786 mHg. What is
the molecullar weight of this substance?

8. Smll amunts of hydrogen are conveniently prepared by reacting zinc with hydrochloric acid.

n(s) + 2Cl(a) —> ZCk(a) + H(Q)
How meny grams of zinc are required to prepare 2.50 L B gas at 765 mHg and 22°C?

9. The atmogphere in a sealed diving bell contained oxygen ad helium. IT the gas mixture hes
0.200 atm of oxygen ad a total pressure of 3.00 atm, what is the pressure due o He? Calaullate
the mess of helium in 1.00 L of the gas mixture at 20°C.

10. Determine the amount of heat needed to raise 20.0 g of ice at O°C to steam at 100°C.
(AHrusion = 334 J/g; SoHtezo) = 4.18 I/gc; AHep = 2.25 KI/Q)



